### Sept 23

Printed October 13, 2023 at 10:51



## Stage 1 -- Stage 1

	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C( #	OMPETITOR Name
1	115	38.88	2.9578	115.0000	100.00	7	Donavon, Chris
2	115	42.83	2.6850	104.3941	90.78	1	Morris, Simon
3	115	45.40	2.5330	98.4846	85.64	3	Spooner, Wayne
4	115	48.00	2.3958	93.1500	81.00	4	Jones, Jason
5	65	46.75	1.3904	54.0578	47.01	6	Taylor, Steve

### Sept 23

Printed October 13, 2023 at 10:51



## Stage 1 -- Stage 1

	PTS	TIME	HIT FACTOR		STAGE PERCENT		OMPETITOR Name
1	115	43.03	2.6726	115.0000	100.00	2	Davies, George

### Sept 23

Printed October 13, 2023 at 10:51



# Stage 1 -- Stage 1

	PTS	TIME	HIT FACTOR		STAGE PERCENT		OMPETITOR Name
1	115	38.73	2.9693	115.0000	100.00	5	Marechal, John

### Sept 23

Printed October 13, 2023 at 10:51



## Stage 2 -- Stage 2

	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C( #	OMPETITOR Name
1	45	9.71	4.6344	45.0000	100.00	7	Donavon, Chris
2	45	13.20	3.4091	33.1023	73.56	3	Spooner, Wayne
3	45	13.54	3.3235	32.2710	71.71	6	Taylor, Steve
4	45	17.58	2.5597	24.8549	55.23	4	Jones, Jason
5	45	21.42	2.1008	20.3992	45.33	1	Morris, Simon

### Sept 23

Printed October 13, 2023 at 10:51



## Stage 2 -- Stage 2

	PTS	TIME	HIT FACTOR		STAGE PERCENT	COMPETITOR # Name
1	45	10.81	4.1628	45.0000	100.00	2 Davies, George

### Sept 23

Printed October 13, 2023 at 10:51



## Stage 2 -- Stage 2

	PTS	TIME	HIT FACTOR		STAGE PERCENT		OMPETITOR Name
1	45	11.02	4.0835	45.0000	100.00	5	Marechal, John

### Sept 23

Printed October 13, 2023 at 10:51



## Stage 3 -- Stage 3

	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C( #	OMPETITOR Name
1	30	7.26	4.1322	30.0000	100.00	1	Morris, Simon
2	30	7.34	4.0872	29.6730	98.91	3	Spooner, Wayne
3	30	7.46	4.0214	29.1957	97.32	4	Jones, Jason
4	30	9.00	3.3333	24.2000	80.67	7	Donavon, Chris
5	30	9.58	3.1315	22.7349	75.78	6	Taylor, Steve

### Sept 23

Printed October 13, 2023 at 10:51



## Stage 3 -- Stage 3

	PTS	TIME	HIT FACTOR		STAGE PERCENT		OMPETITOR Name
1	30	7.58	3.9578	30.0000	100.00	2	Davies, George

### Sept 23

Printed October 13, 2023 at 10:51



## Stage 3 -- Stage 3

	PTS	TIME	HIT FACTOR		STAGE PERCENT		OMPETITOR Name
1	30	11.77	2.5489	30.0000	100.00	5	Marechal, John

### Sept 23

Printed October 13, 2023 at 10:51



## Stage 4 -- Stage 4

	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	<b>C</b> *	OMPETITOR Name
1	60	17.24	3.4803	60.0000	100.00	3	Spooner, Wayne
2	60	17.94	3.3445	57.6589	96.10	7	Donavon, Chris
3	60	24.13	2.4865	42.8678	71.45	1	Morris, Simon
4	60	29.27	2.0499	35.3399	58.90	6	Taylor, Steve
5	60	30.18	1.9881	34.2744	57.12	4	Jones, Jason

### Sept 23

Printed October 13, 2023 at 10:51



## Stage 4 -- Stage 4

	PTS	TIME	HIT FACTOR		STAGE PERCENT		OMPETITOR Name
1	60	15.92	3.7688	60.0000	100.00	2	Davies, George

### Sept 23

Printed October 13, 2023 at 10:51



## Stage 4 -- Stage 4

	PTS	TIME	HIT FACTOR		STAGE PERCENT		OMPETITOR Name
1	60	41.64	1.4409	60.0000	100.00	5	Marechal, John

### Sept 23

Printed October 13, 2023 at 10:51



## Stage 5 -- Stage 5

	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C( #	OMPETITOR Name
1	45	9.67	4.6536	45.0000	100.00	1	Morris, Simon
2	45	9.79	4.5965	44.4484	98.77	7	Donavon, Chris
3	45	11.57	3.8894	37.6102	83.58	3	Spooner, Wayne
4	45	22.91	1.9642	18.9939	42.21	4	Jones, Jason
5	45	32.72	1.3753	13.2992	29.55	6	Taylor, Steve

### Sept 23

Printed October 13, 2023 at 10:51



## Stage 5 -- Stage 5

	PTS	TIME	HIT FACTOR		STAGE PERCENT	COMPETITOR # Name
1	45	9.75	4.6154	45.0000	100.00	2 Davies, George

### Sept 23

Printed October 13, 2023 at 10:51



## Stage 5 -- Stage 5

	PTS	TIME	HIT FACTOR		STAGE PERCENT		OMPETITOR Name
1	45	11.75	3.8298	45.0000	100.00	5	Marechal, John

### Sept 23

Printed October 13, 2023 at 10:51



## Stage 6 -- Stage 6

	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C( #	OMPETITOR Name
1	85	27.80	3.0576	85.0000	100.00	7	Donavon, Chris
2	85	30.81	2.7588	76.6959	90.23	1	Morris, Simon
3	85	37.48	2.2679	63.0470	74.17	3	Spooner, Wayne
4	85	39.46	2.1541	59.8834	70.45	6	Taylor, Steve
5	85	44.01	1.9314	53.6923	63.17	4	Jones, Jason

### Sept 23

Printed October 13, 2023 at 10:51



## Stage 6 -- Stage 6

	PTS	TIME	HIT FACTOR		STAGE PERCENT	COMPETITOR # Name	2
1	85	28.03	3.0325	85.0000	100.00	2 Davies, Georg	je

### Sept 23

Printed October 13, 2023 at 10:51



## Stage 6 -- Stage 6

	PTS	TIME	HIT FACTOR		STAGE PERCENT		OMPETITOR Name
1	85	59.58	1.4267	85.0000	100.00	5	Marechal, John

### Sept 23

Printed October 13, 2023 at 10:51



## Stage 7 -- Stage7

	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C( #	OMPETITOR Name
1	60	12.15	4.9383	60.0000	100.00	7	Donavon, Chris
2	60	20.19	2.9718	36.1070	60.18	3	Spooner, Wayne
3	60	30.11	1.9927	24.2112	40.35	6	Taylor, Steve
4	60	30.19	1.9874	24.1471	40.25	1	Morris, Simon
5	60	38.62	1.5536	18.8762	31.46	4	Jones, Jason

### Sept 23

Printed October 13, 2023 at 10:51



## Stage 7 -- Stage 7

	PTS	TIME	HIT FACTOR		STAGE PERCENT		OMPETITOR Name
1	60	14.98	4.0053	60.0000	100.00	2	Davies, George

### Sept 23

Printed October 13, 2023 at 10:51



## Stage 7 -- Stage7

	PTS	TIME	HIT FACTOR		STAGE PERCENT		OMPETITOR Name
1	60	11.78	5.0934	60.0000	100.00	5	Marechal, John

### Sept 23

Printed October 13, 2023 at 10:51



## Stage 8 -- Stage 8

	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C( #	OMPETITOR Name
1	100	33.93	2.9472	100.0000	100.00	3	Spooner, Wayne
2	100	34.06	2.9360	99.6183	99.62	7	Donavon, Chris
3	100	35.13	2.8466	96.5841	96.58	1	Morris, Simon
4	100	38.00	2.6316	89.2895	89.29	4	Jones, Jason
5	100	46.48	2.1515	72.9991	73.00	6	Taylor, Steve

### Sept 23

Printed October 13, 2023 at 10:51



## Stage 8 -- Stage 8

	PTS	TIME	HIT FACTOR		STAGE PERCENT		
1	100	23.75	4.2105	100.0000	100.00	2 Davies, George	

### Sept 23

Printed October 13, 2023 at 10:51



## Stage 8 -- Stage 8

	PTS	TIME	HIT FACTOR		STAGE PERCENT		OMPETITOR Name
1	100	34.13	2.9300	100.0000	100.00	5	Marechal, John